17

2o} o] go] ofyl e

Aot BRE 00] oFY 2 52 UhrolA

L
=

H
=




:“{}Oﬂ gure 2 AR MY oA
8 24 [J_ 6
56 D_M_D

> =

> £

» E:

[> Heh: 28

> =g 12

==

48 1} 56 o] FoFrE=

8 o] oF=21 1, 2, 4 %th‘r

upaka] 2ot TZ}— 4, 8 B U

48+2 24 48+4 12 48:8 6

56+2 28 56+-4 14’ 56+8_7‘:’qq‘




14717

o
A

7

2 oju

A

i

Fokism w2 vet

0.15&

s

3.




AR e o), B2k b A S of

Ir

AdY

@ 0.3 ® 04 @ 0.65 ® 0.9

3
T 10
4_
===
65 13
T 100~ 20
9
10




)

5.  ERe}EA9] 9ol 52 o], ofEstH

\HO.\
i)

v
1

24
28

B

7T+6=13 0|22
Brol Balo] 52 +13 = 4 2 FFUh

6><4 24
7><4 28
(e %)

12 18 24
= — ... ok
4 21 28 i

6_
7
Brol Batol gho] 52 9l 4= — Yyt




RRo} A2 Gl 44 o, SHLel © o] Ik 258 7
wate] g #AQ.
> &

> =g 20

B

6 _9_12 =k

16 24 32
o} Haho] o 44 9l Bk

whebA] 32 — 12 = 20 YT},

3
8




shel vh2] 4

ol o

7.

T
B T
o on
Yo
to}

LT o
G

]
—_
fife)

my

4

h'x

o =

: 3

M ld

i m_ﬂ
il

GO

T

NTR

+ T

'~ ot Tf

o @




2 1 . )

5 7 & EREas VM Tk 2R SRl gy

EEE GutR Sfof Ft?

> =

D> ®E: 17
$+T°%-%Eﬂ%%ﬂ%zﬂ%&%é%ﬁ%%#ﬂ

oA,

T 22 aﬂ g viE FolA 88l 7HE 7k €
9949 HAFHl4= 9x4 =36 JHTh
2| 43l4 36 9] vl
o] & 88l 7 77k = 72 44T

=36, 72, 108, --- YUtk




